1. Given: AD=BC, §E// AD
Prove: AABD = ACDB

Statements

Proving Triangles Congruent
D c

34

B
Reasons

1. AD=BC, BC// AD
2. BD=BD

3. Z1=/4

4. AABD = ACDB

2. Given: AD ;EE, DC= BA
Prove: AABC = ACDA

Statements

—

& W N

D%C
A B

Reasons

1. AD=CB,DC=BA
2. AC=AC
3. AABC = ACDA

s
3. Given: RV =TV, VS bisects Z RVT
Prove: ARSV = ATSV

Statements

VA
R s T

Reasons

1. RV = VT, VS bisects £ RVT
2. /1222

3. VS =VS

4. ARSV = ATSV

4. Given: GE bisects DF, GD = GF
Prove: AGDE = AGFE

Statements

—
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A
D E F

Reasons

1. GE bisects DF, GD = GF
2. B—EEEE

3. GE =GE

4. AGDE = AGFE

5. Given: _I;El//-l_?g,l_’a =RS
Prove: APQS =ARSQ

Statements

-

& W N

P Q

NN

5 R
Reasons

1. PQ=RS,PQ//RS
2. /PQS= /RSQ
3.5Q =sa

4. APOS = ARSQ
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6. Given: AE=CE, /1= /2,BE LAD
Prove: AAEB = ACED

Statements

Reasons

-

. AE=CE, £1=/2

. BELAD

. ZAEB and ZCED are right angles
ZAEB = ZCED

o oA W N

AAEB = ACED

7. Given: AC and BD bisect each other at M
Prove: AAMB = ACMD

Statements

—

nwn > W N

Reasons

1. AC and BD bisect each other
2. AM=CM, BM =DM
3. Z =/

4, A =A

8. Given: DE // AB, CA //EF,
L1272, _
E is the midpoint of BC
Prove: ACDE = AEFB

Statements

—

Vert. Z's=

& W N

Reasons

1. CA//EF
/£3=/5
DE// AB
£5= /4
/3= /4
Z =z

. E s the midpoint of BC
. CE=EB

©o ®» N & u B W N

s e

—
©
>

= A

-_

o n & W N

. Given

o ©® N

def. = segs.

w.




) CPCTC.
Give a reason to support each statement.

1. If ZA and /B are a linear pair then ZA and /B are supplementary.
. If ZA and ZC are vertical angles, then /A= ZC.

2

3. fFmZ1=ms2 and mZ2 =m/3, then m£1 =m13.
4. If AABF = ACED, then ZA = £C.
5
6
7

. If ZA and 4D are complementary, then mZA + m/£D = 90.

. If T is in the interior of ZSRF, then mZSRT + mZTRF = mZSRF.

—»
. If RT bisects ZSRF, then m£SRT = mZ/TRF.

R

8. Given: AH and BR bisect each other at M M H
Prove: /A= /H A

)
Statements Reasons

. /_\ﬁandﬁ_ﬁ bisect each other at M
. AM=HM, RM = BM

—
-

N

3. ZRMA = Z/BMH

4. AAMR = AHMB
5. ZA=/H

s WN

9. Given: ﬁ.lg__—VT,VS*bisects ZRVT
Prove: RS=TS
S

Statements Reasons |

1. RV = VT, VS bisects ZRVT

-—

2. L1=/2

3.Vs=VS

4. ARSV = ATSV

i & W N

5 RS=TS

10. Given: AE = BC, ZEAB = ZCBA 5
Prove: £L1=./2

Statements ‘ Reasons

1. AE=BC, ZEAB = /CBA

-

2. AB=AB

3. AABC = ABAE

& W N

4. L1=/2

11. Given: ZSVT= ZUTV,SV=UT J
Prove: £STV = ZUVT

Statements Reasons

1. 4SVTz ZUTV

—

N

. Given

2, z

SEEEY

3-_V—'I:_—~__V-'IT

4, ASVT = AUTV

v oA W

5, ZSTV = ZUVT




12. Given: LP bisects ZMLN,
_PM LLM,PN LLN
Prove: PM = PN

7. ALMP = ALNP

M N
Statements ReasonPs
1."LP bisects ZMLN 1.
2. Z/NLP = ZMLP 2.
3.PM LLM, PN LLN 3.
4. Z/LMP and ZLNP are right angles 4.
5. ZLMP = ZLNP 5.
6. = 6. Reflexive
7.
8.

8. PM =PN
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\Write a two column proof for each. Use notebook paper.
e ————

1. Given: RJ=RK, SJ = SK
Prove: ARSJ = ARSK

2. Given: /1 and £2 are right angles,J—S =KS
Prove: ARSJ = ARSK

3. Given: AB and CD i
bisect each other
Prove: AAXC = ABXD

D
C X T

5. Given: AB=CD
AB // CD
Prove: AABD = ACDB

7. Given: AC=BC .
X is the midpoint of AB
Prove: AACX = ABCX

Writing Two Column Proofs =S

Is)
J

S Problems # 1 and 2

4. Given: /3= /4, RS bisects ZTRP
Prove: ARST = ARSP

y
6. Given: /X=z=/Z 1)2
/3=/4
Prove: AXYA = AZYA
314 > N
X A z

8. Given: AX L VT X
/1=/2
Prove: AVXA = ATXA



